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Losung Al

:83 _ ;Ci _p  |[JO=Gx-2 g(x) = 3x% -2
Zgg : ;Cg_ X2 f(x) =B —-x2)3 g() = 3 — x6

I;gg : ;CZ_ 1 f(x) = (x — 1)2 gx) = x2—1

383 : ;; _oy | =(2x% - 2x)° 90 = 2x° — 23
O OB o) = 5203
:;lgg : ;Ci 3y f(x) = (x* — 3x)? 9(x) = x* — 32
Zgg _ ij _oy | T@ =G -22)° 9(x) = 210 — 25
Zgg:i:_x"‘z fO) =@ —x+2)° gx) =x10—x8+2
O i |-Gy )= 3 1 4

Losung A2

F(x) = (4x% — 3x)3 u(x) = 18 v(x) = 4x2 — 3x

F(x) = (x2 — 2x)k u(x) = x* v(x) = x% — 2x

f(x) = (5x2 + x? — 4x)3 u(x) = x° v(x) = 5x° + x% — 4x
flx) = (5x* —4x3 — 2x + 5)* | u(x) = x* v(x) =5x* +4x3 - 2x+5
f(x) = —2(2x3 + 3x% + x)° ulx) = — v(x) =2x3 +3x% +x
fx)=@4-x7)"° u(x) =x"° v(x) =4—x7

F(x) = mcos(2(x — 3)) + 1 u(x) = wcos(x) + 1 v(x) = 2(x — 3)

f® = e u(x) = sin™' (%) v(x) = 0,5x — 1

F(x) = 0,53/ (4x2 — 3x)2 u(x) = 0,5Vx v(x) = (4x* — 3x)?

©. by th-ln-mtb'_-m!ﬂn.,muhra{,g an nqu am'gghun mr Ec.hulqkund stuuumn
www fit=in- maiha-unline 8 i vt
“~/Dr,“Ing: Melnolf Milller /' wehmumrmm-m Mnthe-romlﬂﬁ ;le :

...l
~



L

W@U A
” nssZHFvKﬁftenFQge/VJ 2

s

Leve/ 1 —J Grundlagen - B/att 1

“‘{v l‘, 7\ ' y, !
’V\'*f ol 5v *“v*l” f

1678 Ser « v S5¥ 4 vS3%

Losung A3
a) g =x% h(x)=x+3

fG) = (x+3)? k(x) =x?+3
b) gx)=x+1; h(x)=7x2

flx)=7x*+1 k(x) =7(x + 1)?
c) gx)=+x; h(x) =4x+3

f(x) =V4x +3 k(x) = 4Vx + 3
d) g =QQx+1)?% h(x)=3x

f(x) = (6x + 1)? k(x) =3 (2x + 1)2
e) gx)=4x"1; h(x)=3x—-2

flx)=4@Bx—2)7" k(x) =12x"1 -2
f)  g(x) =sin (3x); h(x) = 2x?

f(x) = sin (6x?) k(x) = 2 - sin?(3x)
g) g =e*; h(x) =(1-x)?

flx) = e2(1-0)% — p4(1-x) k(x) = (1 — e?*)?
h) g(x) =x-cos(x); h(x) = %

f) = Zeos 5) K = e
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